Development and Health              Environmental Interactions
In this application you are going to find out about :

1. What is development?

· How is it measured?

· Models of development

· Reasons for differences in levels of development.

2. Using development indicators
3. Development differences between countries

4. Contrasts in development within individual countries in the developing world.
5. Primary healthcare

WHAT IS DEVELOPMENT?
Development means growth.  As geographers we are interested in the levels of development and rates of growth between places across the world and within continents or countries.
· Copy the ‘processes’ and ‘indicators’ from slide three.
How is it measured?

· Economic Indicators - these are a measure of the wealth and industrialisation of a country
· Social Indicators – these show how a country uses it’s wealth to try and improve the quality of life of its people 

· Human Development Index or Physical Quality of Life Index (PQLI)
· Complete the task from slide five
Economic indicators – this is the easiest to measure because it is based on wealth.  
The world can be divided into 

· Economically more developed countries (EMDC’s) :-which include the richer more industrialised nations of the so-called NORTH
· Economically less developed countries (ELDC’s) – which include the poorer, less industrialised countries of the developing SOUTH.

· Newly industrialised countries (NIC’s) – ELDC’s like Korea, which are developing faster than many of the countries in Sub-Saharan Africa, widening the gulf between them.

The wealth of a country is measured by its gross national product per capita i.e. the GNP per person.  The GNP is the total value of all the goods and services produced by a country in a year, divided by the total number of people living in that country. 

The disadvantage of using GNP is that: -
· It does not show differences in wealth between people and places within a country.
· It is most accurate in countries which have a “market economy” where goods and services are exchanged for money rather than through bartering
· And in countries where goods are produced commercially rather than by subsistence methods i.e. cottage industry.
· The exchange rate of the US$ fluctuates and distorts growth.
· GNP makes no allowance for human and natural resources.
Social Indicators – These indicators measure different things like health (doctors per 100 000), diet (calories/per person per day) and education (% adult literacy).  They are dependent on the wealth of a country and how the wealth is distributed within a country.

The Human Development Index is a social welfare index measuring the adult literacy rate (education), life expectancy (health), and the real GNP per country i.e. what an income will actually buy within a country (economic).  The HDI is an attempt to compare the quality of life between people and places and it can measure difference within a country.  One disadvantage is that it cannot measure human rights or freedom.
· Copy the table from slide 11 and complete the task
· Copy slide 12

PROBLEMS OF USING INDICATORS GENERALLY
Indicators work well when comparing two or more countries but have some limitations when reflecting the quality of life within a country.  They are often too broad and too generalised to reflect all aspects of a country.

· They are averages which disguise or distort wide internal variations e.g. a few very wealthy families but the majority of the population may be living at subsistence level e.g. Saudi Arabia.
· Some regions /areas of a country may be much better off than others – the north south divide or urban/ rural contrasts.

· GNP figures are in some cases inflated by oil revenues but the benefits have not filtered through to other indicators like education or healthcare e.g. Saudi Arabia, Kazakhstan
· Certain indicators are perhaps irrelevant to the real quality of life in many poorer subsistence- based economies

· Textbook Core:Human questions 1a,b, d, e and f on page 151. Use page 142 & 143 to help you.
· Copy and complete the table from slide 16
 Reasons for Differences in Development

Positive factors include accessibility for good trade, a pleasant climate or attractive scenery to encourage tourism, natural resources like oil or other minerals, stable government and an increasingly educated population.

Negative factors include remoteness, a very cold or dry climate, disease, lack of natural resources, corrupt government, civil war, natural disasters like drought, cyclones, floods or earthquakes, fast growing population and crippling debt.

	Positive 

/Negative
	Examples

	
	Countries such as Saudi Arabia, the United Arab Emirates or Brunei have been able to prosper and develop rapidly because of their oil and gas reserves.

	
	Countries such as Singapore, South Korea or Taiwan have, as entrepreneurs, encouraged the development of industry, commerce and prosperity.

	
	Countries such as Ethiopia, Somalia and Chad are lacking in natural resources and have recurring drought and associated famine problems to contend with.

	
	Countries such as Bangladesh, Haiti are regularly affected by natural disasters such as flooding, cyclones etc

	
	Countries like Iraq, Afghanistan and Zimbabwe have been disrupted by civil disorder,war and political instability

	
	Countries like Mexico and Nigeria have to pay over 30% of their income from exports in debt repayments : each person in Tanzania owes the West £134  Interest rates on the loans are high so LDC’s find it difficult to keep up the repayments

	
	Countries like Thailand and Sri Lanka have actively encouraged tourism which can bring in foreign currency and provide job opportunites


=> Read Core: Human textbook pages 

145 & 146. Copy diagram 5.7 and answer questions 2a, f and g from page 151.

Differences Within Countries 

Development indicators describe the average conditions within a country but…

· They often hide wide variations which may exist between rural and urban areas.

· Conceal huge differences in wealth e.g. in oil rich countries between the wealthy few and the poverty stricken majority.

Rural areas less likely to have access to:
· Clean water

· Sanitation

· Health facilities

· Education

· Access to international aid

Similar comparisons could be made between urban rich and poor – see notes on Thailand.

Differences in Economic Development

Economic Development is the growth of industry and commerce. It is concentrated in a few, favoured locations, leaving other places relatively poorly developed. The most prosperous part of a country may be called the Core. The periphery – those parts furthest from the core – is generally poorer. 
Core – Periphery Model




Periphery – levels of wealth, development and standards of living decrease with distance from the core. There are fewer jobs and services. Less investment. 

Features of the core

· Main industrial areas and a large local market

· These attract services like banking and insurance.

· The core can afford better services like schools, housing, modern transport networks

· The core attracts people from the surrounding area.
Features of the periphery

· Fewer jobs and lower rates of pay

· Jobs are often mainly in the primary sector

· There is a lack of opportunity

· Poorer provision of services

· People may decide to leave (attracted by the Core) leading to depopulation. 

In the UK, the core is in the South East , in and around London.

Scotland, the north and Southwest of England and Wales are in the periphery – furthest from the South East.
=> Read Core: Human textbook page 147 and answer question 2 I and j from page 151.
CASE STUDIES
In the exam you may be asked to compare the development of a NIC (newly industrialised country) with that of a developing country.

Newly Industrialising Countries

The most significant change in manufacturing in recent years has been the rapid development of industrialisation in some developing countries e.g. Singapore, Taiwan, Thailand and Brazil.  As a result the economy of these countries has grown and they have become richer.  They are known as newly industrialising countries (NICs).

Analysts predict that most manufacturing will soon be based in the Pacific Rim as NICs combine with Japan and the USA as industrial giants.
Factors encouraging growth

· Labour –low wages so multinationals can employ more people more cheaply making goods at lower cost e.g. in China people are happy to work for £50 a month making cigarette lighters.

· Government – NICs offer incentives to attract new companies.

· Communications – satellites and computers maintain contact between plants in NICs and headquarters in USA or Britain.  Global transport is quicker than ever before.

· Market – worldwide market place means goods can be produced anywhere.

Fact file: Thailand 
· Fast growing economy

· Moved from agriculture based to manufacturing (electronics)

· Personal wealth increased

· Ownership of consumer goods increased e.g. TV’s

Distribution of wealth

· 50% of all energy used in Thailand

· Increased migration rural to Capital city – Bangkok* - average income ten times higher than in the north-east of country.  Core industrial area.

· Bangkok has highest rates of adult literacy, most of Thailand’s wealth and uses most energy and  urban migration – severe overcrowding in Bangkok

· Increased levels of air pollution due to congested roads.

· Services fail to keep up with growth of city – only 2% have sewage facilities

· Increased levels of sewage pollution in canals

· Industrial pollution has killed off marine life in the Gulf of Thailand 

Government Intervention
Two new industrial areas have been designated 100 kms south of Bangkok.  Designed to attract industry away from Bangkok, spreading the wealth creating opportunities.
*Bangkok has huge contrasts between its urban rich and urban poor. 
	The rich :-
	In comparison the urban poor : -



	· live in lovely modern apartments

· have good, well paid jobs

· can afford all modern luxuries

· have a western style standard of living

· can give their children full education
	· live in overcrowded shanty towns

· have no clean water or sanitation

· work in the ‘informal sector’.

· can only give their children a

· limited education.




Developing Countries.

Many different factors often restrict the development of some of the poorest countries in the world.  They have few natural resources and suffer from natural disasters.  Any developments made are set back when money has to be spent repairing damage rather than going forward towards improved living standards.
Burkino Faso

· One of the poorest nations on earth
· Located in Sub-Saharan Africa  
· GDP per capita was 317 US$ in 1990; by 2000 it had fallen to 234 US$.  (Figs from WHO-World Health Organisation)
· Expenditure on education amounts to only 2% of GDP
· The poverty rate measures 61.2%

· 32% of the population is undernourished

· Infant mortality is 87 per 1000 births.

· In terms of consumer goods there are 5 cars per 1000; 9 TV’s per 1000

Economy based on subsistence farming, hampered by desertification.  Foreign Aid and Intermediate Technology e.g. diguettes – the stone lines used to conserve both soil and water in rural areas are amongst the most recent developments in the country. 
Assignment – answer the following questions.
Figure 1 Indicators of development for two countries
	Indicators
	Sample Newly Industrialised country : South Korea
	Sample developing country : Sudan

	People per doctor
	1176
	11364

	Life expectancy (years)
	70
	50

	GDP per capita (US$)
	4081
	467


Study Figure 1.

i)  Suggest reasons for the differences in development between Newly Industrialising countries and other developing countries.  You should refer in your answer to Newly Industrialising Countries and Developing Countries you have studied.                                                  6

ii)Explain why indicators of development such as those used in Figure 1 may fail to reflect accurately the true quality of life through out a country.   4

Comparative Development
Read the newspaper article below on development in Burkina Faso.
Where small is beautiful
Small-scale development projects are helping to transform the way subsistence farmers eke a living out of the soil in Burkina Faso.
In the past, developed nations and aid agencies have concentrated on large schemes to help famine-struck nations. These have often had little relevance to local needs. They have built dams that caused people to move from their homes, roads that cut through rarest land and factories that produced goods that only the wealthiest could afford.
In Burkina Faso smalt-scale projects have proved to be very successful among subsistence farmers (who grow food in order to survive). It is the world's third poorest country; its nine million inhabitants have a life expectancy of 48 years and an average annual income equivalent to £135 per head.
Burkina Faso's 7,000 villages stretch from the arid edges of the Sahara Desert in the north to greener, more fertile lands in the south-west. People's lives are most at risk in the Sahelian region of the country, bordering the Sahara Desert, where less than 300 mm of rain falls in a year. By comparison, the average annual rainfall in England and Wales is 773 mm.
The Sahel has suffered 20 years of drought and deforestation as the Sahara has slowly expanded. Villagers in the region have lost a third of their land because winds have loosened the topsoil and short heavy rains have washed it away. As the amount of land available for growing food on shrinks, the population has continued to grow. This has increased the number of people dependent on the land.
But the people of Burkina Faso have combined their efforts to save the land and make it more productive. Generally, they have only needed a little help from small outside agencies.
One simple project, launched as an Oxfam experiment in 1979, has been developed and expanded across the country to provide a water conservation scheme that is bringing thousands of hectares of "lost land" back to life. The experiment began in Yatenga in 1979 with a low, U-shaped earth wall designed to catch rainwater for tree seedlings planted inside the wall. Local villagers use the scheme to irrigate food crops.
With Oxfam's help they developed the diguette, a line of stones, stalks and branches placed across the bottom of a field to prevent water running off and reduce soil erosion. The invention has since been copied across the country. In 1981 diguettes, or stone lines, had been built on only seven hectares of land. By 1987 that had risen to 1,200 hectares. Today, more than 5,000 hectares of land have been treated with great successThe building of diguettes has enabled water to penetrate arid, dusty land, reducing erosion and improving crop yields by up to 50 per cent.
In his book on Burkina Faso, Robin Sharp, a specialist in the environment and development in the Sahel, writes: "In the village of Baszaido, three years after the first diguettes were built, the contrast between land so treated and the rest is remarkable. Within the stone lines there is tall grass everywhere and a good harvest of ripening sorghum. On the other side of the path there is a large expanse of barren ground."
This is just one example of the type of small-scale development scheme that has brought Burkina Faso a seven per cent annual rise in food production between 1983 and 1987.
Yet Burkina Faso still has its problems. Food is not evenly distributed across the country and there are shortages of fruit, vegetables, meat and fish. Many people are under-nourished, and the United Nations estimates that the country's food consumption is 14 per cent less than the minimum required for good health.
The future is uncertain. Nobody knows what effect global warming will have on Burkina Faso or the world's environment in the next 25 years. Some scientists believe that global warming could, for example, lead to even less rainfall in many arid nations.
But, through their willingness to adapt small, local solutions to their problems, the farmers of this small, land-locked west African country have shown the spirit and ingenuity which could help them put the threat of starvation behind them.
Source The Guardian 11 December 1999

Under the heading of 'SMALL SCALE DEVELOPMENT IN BURKINA FASO1, answer the following questions, structuring your responses in paragraphs. 
1. Where is Burkina Faso?
                (1)
2. What are the problems in the Sahelian region of the country?          (6)
3. What type of projects are proving successful?                                  (2)
4. Which aid agency developed the diguette, and when?                        (2)
5. Explain what diguettes involve.                                                              (4)
6. What three improvements have been enabled by diguettes?             (3)
7. What problems still remain in Burkina Faso?                                       (4)
                                                                                                                   (22)

A Challenge!

Remember it doesn’t matter if you don’t know anything about South Korea or Sudan.  All the information you need to answer the question is in the table in the form of development indicators and numbers.

Figure 2 Indicators of development for two countries
	Indicators
	Sample Newly Industrialised country : South Korea
	Sample developing country : Sudan

	People per doctor
	1176
	11364

	Life expectancy (years)
	70
	50

	GDP per capita (US$)
	4081
	467


Study Figure 1.

i)  Suggest reasons for the differences in development between Newly Industrialising countries and other developing countries.                                                 (6)
ii)Explain why indicators of development such as those used in Figure 1 may fail to reflect accurately the true quality of life through out a country.             (4)

Comparative Aid 

Large scale aid:
Western high technology pays for specialist help to build factories, roads power schemes, irrigation.* This benefits factory owners, land owners and is no help to the landless farm workers, the low paid farm workers and the unemployed.
*money goes back to donor country to pay for salaries and machinery.

Low scale aid:

Intermediate technology (low - tech) pays for health clinics, new crops for small scale farmers and local water supplies. This benefits poorest people as it improves their income and enables them to buy goods and food. This stimulates the local production of goods and food and creates new jobs for local people. This will then provide tax money for government to use to build schools, roads, hospitals & housing. 

=> Read through pages 180 and 181 of the New Wider World textbook and answer question 6 from page 187.



CORE


Capital city, chief port, major industries and urban areas, most services and investment











